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Please make sure that the printed pages in this question paper are 16 in number
and it contains 20 questions.
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The Code No. and Set on the right side of the question paper should be written by

the candidate on the front page of the answer-book.
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Before beginning to answer a question, its Serial Number must be written.
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Don’t leave blank page/pages in your answer-book.
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o FTT-GRam & SRFT FF T A T& Al g sraeaEdgar & @ G fiar Faw T
#IC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

o TUETER U AT To JoT-UH T Haed [i@ W To F SHARFT FIT-YH G F FE A T
frd sit dmfoas g9t @ Rl q¥ el Jre @7 9T T g
Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.

o U g % FUT 37 @ Y4 I€ Ghlaa # @ [ 9T-77 {7 7 @& & Yher 3 U 59
G § 25 4 qar w@hwre T A @
Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.
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General Instructions :
() All questions are compulsory.
(ii) Marks for each question are indicated against it.

(iii) Question Number 1 consists of fifteen (i-xv) objective type questions carrying
1 mark each. Candidates have to write the correct answer in their answer-
book.

(iv) Question Numbers 2 to 9 are very short answer type questions of 2 marks
each. Answer these in about 30 words each.

(v) Question Numbers 10 to 17 are short answer type questions of 3 marks
each. Answer these in about 40 words each.

(Vi) Question Numbers 18 to 20 are long answer type questions of 5 marks each.
Answer these in about 70 words each.

(vii) There is no over all choice. However, internal choice is given in all long
answer type questions of 5 marks each. You have to attempt only one of the
given choice in such questions.

[ TGS 5 |

[ Objective Type Questions ]

1. () K,SO, % ¥ are 2% $aex (i) H 99 a0 ¢ 1
A) 1 (B) 2
€) O (D) 3

The Vant Hoff's factor (i) for K;SO, is :
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(i) ST Aifea FNES GEQ uEed W H2i8 T adl & ¢ 1
(A) A

(B) HifsTH
(C) WifsTT THT™
(D) g

Fused NaCl on electrolysis gives on Cathode is :
(A) Chlorine

(B) Sodium

(C) Sodium Amalgam

(D) Hydrogen

(i) fpen erfihae & fom we sifwfear fadim ife @ B ol @1 1 S8 ywifga &,

gie oTffhge &l Tisar STef HT & ST ? 1
(A) 4 Tom (B) 27w
© 4 T (D) 8 7em

A reaction is second order with respect to reactant. How is rate of reaction

affected if concentration of reactant is reduced to half ?
(A) 4 times (B) 2 times

(@) %times (D) 8 times
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(iv) AR [CoCl,(en),|Cl # Hame i ITGEHASTHA F1 & ? 1
(A) 6 (B) 4
C) 8 (D) 2

What is the co-ordination number of cobalt in the [CoClQ(en)Q]Cl
compound ?

(A) 6 B) 4
C) 8 (D) 2
(v) T il Tohisel saigs STafe & &S § 1
(&) Sy
(B) faeiiod
(C) @R
(D) sy’

A tertiary alkyl halide would prefer to undergo :
) Sy’

(B) Elimination

(C) Addition

D) Sy’
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1 | ; AT !
vi) e CH,CH,0H SN H250a | 4 g . p g @ 2 1
413K
(A) CH;CH,CH,CHj
(B) CH3CH,OCH, CHj
(C) CH3CH,OCH,
(D) CH2 = CH2
In the reaction CH;CH,OH conc. HyS0, A; A will be :
413K
(A) CH,CH,CH,CH,
(B) CH3CH,OCH,CHj
(C) CH3CH,O CH,
(D) CH2 = CH2
(vii) ARH HOOC-COOH & IUPAC ¥ ...cevvve.es 2| 1

IUPAC name of compound HOOC-COOH is ............ .
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(viii) SEAM SEmEES i sffear § @1 SwE § ? 1

(A)  CeHsNH,

(B) CgH5CONH,

(C) CgHs5NO,

(D) CgHs0H

Hofmann bromamide degradation reaction involve :
(A)  CeHsNH,

(B) C¢HsCONH,

(C) CegHsNO,
(D) CgHsOH
(ix) ToEHoN e § | fhaer SeeX § ? 1
(A) e
(B) Uikra®Ee
(C) HHIHTES
(D) STEEDHES
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Glycogen is an example of :
(A) Protein

(B) Polysaccharide

(C) Monosaccharide

(D) Disaccharide

(x) TR B AR e , 8 K =3x10"*Lmol'S7!.
Order of reaction is .......... , when K =3x10"*Lmol™!S7!.
(xi) Fr=TiTE ATHRET 1 YU HIFT
Complete the following reaction :

RCH-OH CrO3 (anhydrous)
2 ............

(xii) foeT® ‘@ @ HH F BN Al S e 2

Deficiency of Vitamin 'A' causes ............ .

(xiii) FFIIF B I~A H HROT T & 7

What is the cause of elevation in boiling point ?

(xiv) [Co(NH;), | Cly A @1 TUPAC 7 fifw

Write IUPAC name of [Co(NH;), | Cl; compound.
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(xv) QI & UM § Fofere & foiQ Sgery ifeptiss &1 A9 Saigu 1

Name the reagent used in dehydration of Ethanol into Ethene.

[ ooy ST U |
[ Very Short Answer Type Questions ]

2. 39 fa@@ ® Gear T ST B 5.6 ¢ KOH, 500 ml e & gar gam i 2

Calculate the molarity of a solution containing 5.6 g KOH in 500 ml of solution.

3. ARG Fife T ARSI P IR i 2

Define order of reaction and instantaneous rate of reaction.

4., 51 37 o HX : 2
() SHgE e
(i) EH<T &A1

Explain the following :

(i) Ambident Ligands

(ii)) Co-ordination Number
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5. fHfaRad &aio A Siel § @ 9 g SN stffsear 3 ? 2

In the following pairs of halogen compounds which compound undergoes faster
SN' reaction ?
Cl Cl

ci
() /}\ T (and) ~ A~ (ii) W o (and) N\ \
6. THIU GG H FOE TAT & A I= FI 8l © 7 2

Why the enthalpies of atomization of the transition metals are high ?

7. ffeT=ae $a) |9l $ SEEXl ded 2T Hi| 2

Explain with example Williamson Ether Synthesis.

8. /= &1 qu +X : 2
(i) e SR
(i) QBT
Describe the following :
(i) Cannizaro reaction
(ii)) Acetylation

9. fxdims @ gdiws W9 & v 3 fow og vamte wheer i 2

Give one chemical test to distinguish between secondary and tertiary amines.
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[ @Y ST 9 |
[ Short Answer Type Questions ]
10. (i) i 3T T SHTE TS Bl GRHTNG BT 2
Define mole fraction and mass percentage.
(i) T I facEe e fog ©F 9 8, T S | 1

Give an example of a solid solution in which the solute is a gas.

11. e & STqeae o1 Sffeiid & [0 e e Feld 1 asded @

(i) TH AR Cu?" & Cu 1
(i) TH AT FeO @ Fe,O 1
(ii) TH AT MnOZ~ & MnO, 1

How much charge required in Coulomb for the following reductions or

oxidations ?

(i) 1 mole of Cu?" to Cu

(ii) 1 mole FeO to Fe,O;

(ili) 1 mole of MnOZ2~ to MnO,
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12. M 6 gow Fife @ e § 99% aiffrar gof 8 § &1 &9 90% Jfiiear gof 8

¥ T o g9 9 G e ol 3

For a first order reaction, show that time required for 99% completion is twice

the time required for completion of 90% of the reaction.

13. @y A& [Nicl, | srggena ¥ i [Ni(co),| sk ¥ gaf AN agehesE € 2 3

Explain why [NiCZ4]2_ is paramagnetic while [Ni(CO),| is diamagnetic though

both are tetrahedral ?

14. (i) SWIEN JEREEE #1 8ld &, Ieel died aHEEy ? 2
(i) = & IWNT oG 1
(a) PR
(b) o Eo To

(i) What are Ambident Nucleophiles, explain with an example ?
(ii)) Give the uses of :

(a) Freon

(b) D.D.T.

15. STE-AESHN U6 UU-TEasN, BN 8 offte o b 8 7 BiMieaEs o &

TR | S 3

Why ortho-nitrophenol and para-nitrophenol are more acidic then phenol ?

Draw the resonance structure of phenoxide ions.
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16. (i) @IfSaRdE sAffear w g feoell fifm 2

Write short note on carbylamine reaction.

(i) T ARAUHN i H faqg & ofafe el T & ? 1

Why ethylamine is soluble in water whereas aniline is not ?

17. () RNA T DNA ¥ X i 2

Give differences between RNA and DNA.

(i) S-S T B & ? & Iae A

What are Biomolecules ? Give two examples. 1
[ € ST U9 |
[ Long Answer Type Questions ]
18. () HIRISY F FEF F|T 8 ? 36 TR i [T S 3

What is Kohlrausch law ? Discuss its applications.

(i) CuSO, & foe@T ® 1.5 WRR &l 4/ & 10 Fefe d& dga sTvafed & T@m Heie

W 8T S H1 ZF9E R/ B 7 (Cus-s) 2

A solution of CuSO;, is electrolysed for 10 minutes with a current of 1.5

amperes. What is the mass of copper deposited at the cathode ? (Cu®3-5)
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19. (i)

(i)
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ST
OR
TR 7 & ? SR & 98 aid e SINTT qoT GeRY § 9 & el & M
i 3

What is Corrosion ? Give factors which promotes corrosion and name the
methods to prevent corrosion.

0.02 mol L™ AINgH T H =il 46.1 S cm? mol ™' Bl 3HH [ AEN &1
MReed @ G ™ '8 0 0& A° . =349.6 Scm’mol”! T

(HY)

° \=54.6 Scm’mol. 2
(HCOO )

The molar conductivity of 0.02 mol L' methanoic acid is 46.1 S cm? mol .

Calculate its degree of dissociation. Given XO(H 4 = 349.6 Scm?mol™ and

\=54.6 S cm?mol!.
(HCOO )

K,Cr,O; &I STFdIBIT BhaT &1 Socid shifoiy qel Fiaiad & ae S deieer
T : (a) TSRS RN (b) STERA (1) fFT9 (c) HaS. 3

Describe the oxidising action of K,Cr,O; and the ionic equations for its

reaction with : (a) iodide ion (b) iron (II) solution (c) H2S.

St facre | Bredet oEe & e oTEel @ oM i, df SHH U FHih
27 B 2

Calculate magnetic moment of a trivalent ion in aqueous solution with

atomic number 27.

B)
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(i) oSS oTgE @ & P 3E HROT adl gRemH S 3
What is lanthanoid contraction ? Give its causes and consequences.
(i) EEHAYT T Ik HHe ATl Pl T FI HA ¢ ¢ &L Aied AT HiT| 2

Why do transition elements exhibit tendency for complex formation ?

Explain with example.

20. 9 q F1 I R, YA Bl ISR Gied GHARY 7 5
(i) @rEAreEiE
(ii) 2, 4 Elo THo o

(ili) PIeS oarglieTad

(iv) Ef-TEed

(v) dleq

What is meant by following term's, give an example of the reaction in each case ?
(i) Cynohydrin

(i) 2,4, D.N.P.

(iii) Kolbe's Electrolysis

(iv) Hemi-acetal

(v) Ketal
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THIHT ERT GUH HINTT

Describe with equation :

(i) TH-ThFX TTTIT 2

Wolff-Kishner reduction

(ii) Ueeld qa+ STfHfhar 5
Aldol condensation reaction

(iti) ferepTeferer STfHfsha 1

Decarboxylation reaction
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